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3099 | HE T ER &L 2#% -8 & 3.6m, 240m 1.000| = 48,234 48,234] 36,642 36,642
3100\ EERE 24k - 18 E3.6m. 240m 1.000| = 38,084 38,084| 28,746 28,746
3101 T EEE 24k -8 &3.6m. 240m 1.000| = 30,693 30,693| 30,693 30,693
12| B EVMBERE 24k - 18 E3.6m. 240m 1.000| = 24,417 24417 24,417 24,417
3103|BB & 2%% - 18 £3.6m, 240m 1.000] = 27,481 27,481| 27,481 27,481
3104| B mGERETEREAE) (24K -18E3.6m. 240m 1.000| = 54,202 54,202| 54,202 54,202
i 355,226 317,092
w5 FHREERE: TOMELE
38,134 0
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BE Z 3 (%) % %8 NEEALGE & =
B {fiNo % T R B B (BN EWm [ £ | E M| £ % "
3079|#R 2 ETE 24% - 18 £ 3.6m. 200m 1.000] = 22,164 22164 22164 22,164
3080| & (44 %) 2#% - 12 &3.6m, 200m 1.000[ = 12,866 12,866 12,866 12,866
3081 |[#RERE (54 E) 2#% - 18 £ 3.6m, 200m 1.000] = 28,252 28,252| 20,424 20,424
3082 | F & - #it W% 5 2%k - 18 £ 3.6m. 200m 1.000] = 44,561 44561| 38,121 38,121
3083 |fE T ER &1 2% 18 & 3.6m, 200m 1.000| = 39,767 39,767 30,107 30,107
3084 |t EYERE 2%k - 18 £ 3.6m. 200m 1.000| = 31,972 31,972 24,244 24,244
3085| T T EEE 24% - 18 £ 3.6m. 200m 1.000| = 25,542 25542 25542 25,542
3086 [HEEMBELE 2%k - 18 £ 3.6m. 200m 1.000| = 20,391 20,391 20,391 20,391
3087|lE& 2%% - 18 £ 3.6m, 200m 1.000] = 22,769 22,769 22769 22,769
3088| Rk R m(ERETEREAE) 24k - 18 E3.6m., 200m 1.000| = 44,774 44774 44,774 44,774
i 293,058 261,402
w5 FHREERE: TOMELE
31,656 0
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TiE |EMEERE BE CGEMTI) E£BED| 4 |xr1oT0u9N 55 EHME AE
i |l 2 18 3R (%) i %8 NEEALGE & =
B {fiNo % T R B B (BN EWm [ £ | E M| £ % "
3001 [ EE S FEE500m 1.000] = 35,225 35,225 33,075 33,075
3002 [#Z#EhLMRAIE #EK500m 1.000] = 253,481 253,481 238,010 238,010
3003 12 ZE Hit iR = FEE500m 1.000] = 146,613] 146,613| 137,665 137,665
3005 | EYEREE M T B AtE 1.000] = 303,674| 303,674| 285,140 285,140
3006 | E E{ERKA FEK500m 1.000] = 18,286 18,286| 18,016 18,016
B 757,279 711,906
w5 FHREERE: TOMELE
0 45,373
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BE#No 6 10X  |xoonwwe| EE  |axeEEE TR
TiE |EMmEE A= (WET) RS 4 |x1o709m 55 EHME AE
e |BE E| B R (%) % %8 NEEALGE & =
B {fiNo % T R B B (BN EWm [ £ | E M| £ % "
3011 [ BAEFES E#&0.39ha 1.000] = 77,207 77,207| 72,495 72,495
0124 I TFmEAIE [E#50.3%ha 1.000] = 286,523|  286,523| 269,035 269,035
3013 |12 % LI B #it R 260m 1.000| = 316,079| 316,079 296,788 296,788
301442 | LIS tE TR £ 557K 550m 1.000] = | 2,885346| 2,885,346| 2,709,245 2,709,245
3015 FEE{ERKA E#50.3%ha 1.000] = 18,286 18,286| 18,016 18,016
3016|F m BI{ERB H$50.39ha 1.000[ = 45,716 45716 45,040 45,040
i 3,629,157 3,410,619
w5 FHREERE: TOMELE
0 218,538
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BE Z 3 (%) i %8 NEEALGE & =
B {fiNo % T Bk B B (BN EWm [ £ | E M| £ % "
3018| 5t EIZE | (NX) 2#% . 185 3.6m. 200m 1.000| 7% 94,400 94,400 94,400 94,400
3019|hibMRAIE (U1 3E) 2#% . W85 3.6m, 200m 1.000| = 60,482 60,482 56,790 56,790
3020(FiMRAIE (RZE) 24k . 185 3.6m. 200m 1.000] = 33,356 33,356] 31,320 31,320
3021 |#it B2 (4h E) 2#%. 1EE3.6m. 200m 1.000| = 45535 45535 42,756 42,756
3022 |#iEdr Al 2 (HZ) 24k . 18 E3.6m. 200m 1.000| = 9,461 9,461 8,884 8,884
3023 |HERTAIE (41 3E) 2%k 1EE3.6m. 200m 1.000| = 62,835 62,835/ 59,000 59,000
3024 |t&EMTAIE (R E) 2#%. 128 3.6m, 200m 1.000] = 18,851 18,851 17,700 17,700
3025| T BERAAEULE) [28k. 1EE3.6m. 200m 1.000| = 15,123 15,123| 14,200 14,200
3026| B EMRAEZF UE) [2#k. 1EE3.6m. 200m 1.000] = 7,700 7,700 7,230 7,230
3027|{% B 2%%k . 18 E3.6m. 200m 1.000] = 16,833 16,833| 16,682 16,682
3035 AHENELE FA#th Ef52000m 1.000] = 8,797 8,797 8,582 8,582
3036 |5 A EXELE FthE#&2000m 1.000| = 8,796 8,796 8,624 8,624
3037| LD EELEERAE | AhmEiE2000m 1.000] = 12,090 12,090 11,970 11,970
3038| g4 % & Bl = FEE200m 1.000] = 121,946 121,946| 111,366 111,366
3039|miEETE FA#th Ef52000m 1.000| = 48,620 48,620| 48,620 48,620
3040 A EAIRERK4ER  |FRhEiE2000m 1.000] = 34,050 34,050| 34,050 34,050
B 598,875 572,174
w5 FHREERE: TOMELE
0 26,701
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BE#No 8 L 10X  |xoonwwe| EE  |axeEEE TR
TiE |EREZE A= (EE LT EMERER) E£BED| 4 |xr1oT0u9N 55 EHME AE
BE Z 3 (%) i ] NEEALGE & =
B {fiNo % T Bk B B (BN EWm [ £ | E M| £ % "
3042 |t B | (NX) 24k . 185 3.6m. 240m 1.000| ¥E7% 94,400 94,400 94,400 94,400
3043 | hibvRAIE (S E) 2%k W85 3.6m, 240m 1.000[ = 72,577 72,577| 68,148 68,148
3044 iR A= (HE) 2%k . 1EE3.6m. 240m 1.000] = 4,170 4170 3,915 3,915
3045 | it Al 2 (4L ) 28R . "EE3.6m. 240m 1.000| = 54,662 54,662 51,326 51,326
3046 | it TRl = (NZE) 24k . 185 3.6m. 240m 1.000] = 11,815 11,815 11,094 11,094
3047 |1&EMnEIE (Sh ) 28R . 1EE3.6m. 240m 1.000| = 75,402 75,402 70,800 70,800
3048 |tEMTAIE (R E) 28R 12 E3.6m, 240m 1.000] = 22,621 22,621 21,240 21,240
3049+ BRXIAE (WA E) |24k, 1E§E3.6m, 240m 1.000| = 18,148 18,148 17,040 17,040
3050| B EMRAEFZ W) [2#k. 1EE3.6m, 240m 1.000] = 8,984 8,984 8,435 8,435
3051 |1k FH 28R 1EE3.6m. 240m 1.000| = 20,323 20,323| 20,141 20,141
3053| AHENELE FA#th Ef52400m 1.000] = 10,681 10,681| 10,421 10,421
3054 | #ufE B E RS A miE2400m 1.000] = 10,831 10,831 10,619 10,619
3055| LD E L ERIAE | AhmEiE2400m 1.000] = 14,105 14,105| 13,965 13,965
3056 | FA g 471 2% & JHl = EE240m 1.000] = 146,765| 146,765 134,032 134,032
3057|miEETE FA#th Ef52400m 1.000] = 58,565 58,565 58,565 58,565
3058 | A EAIRERK{ER  |FAhEiE2400m 1.000] = 40,905 40,905| 40,905 40,905
i 664,954 635,046
w5 FHREERE: TOMELE
0 29,908
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Ti& (AR AR £BXD| 3 |x1oTouoNe 55 EX e AE
e 2 18 3R (%) i ] NEEALGE & =
B {fiNo % T R B B (BN EWm [ £ | E M| £ % "
31358 LUMER AR /I 1.000| = 855,106|  855,106] 855,106 855,106
316 JALLEES R FEE 1.000] = 365,427| 365427 365427 365,427
S17AILMEER MR FEA L 1.000] = | 1,405,342 1,405,342 1,405,342 1,405,342
3138[RILUMEER R 4R FAl{E 1.000] = 465,771 465,771| 465,771 465,771
139ALMEE AR /M) 1.000] = 91,620 91,620 91,620 91,620
1408 LUMER R EAE L 1.000[ = 472,926 472,926] 472,926 472,926
14 jallufeER ad Al 1.000| = 785,825  785,825| 785,825 785,825
1428 1UMER mR BE 1.000] =X | 4,546,373| 4,546,373| 4,546,373| 4,546,373
i 8,988,390 8,988,390
w5 FHREERE: TOMELE
0 0
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BE#No 10 | 10X  |xoonwwe| EE  |axeEEE TR
TiE [(AUEER AR (BB R aR) £BXD| 3 |x1oTouoNe 55 EX e AE
e 2 18 3R (%) i ] NEEALGE & =
B {fiNo % T Bk B B (BN EWm [ £ | E M| £ % "
3130[BR SR EXEL A¥E 1.000| 27%| 1,679,689] 1,679,689| 1,621,892 1,621,892
1N |IBR S 2E 158 1.000| 275 | 556,848/ 556,848 556,848 556,848

B 2,236,537 2,178,740
w5 FHREERE: TOMELE

7,960 49,837




AERERMR

HHES 2252 | mE 55 ZHRES| 2252 |EEsnEEE
Bii&# |1 & EHE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# 6 [RAEXH 5% 40 _ 1-1 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| FEHED Rof T HEEREE 2.000] A 62,200 124,400 62,200 124,400 0.000 0
3|BETA RO ERAEHE 2.000] A 55,200 110,400 55,200 110,400 0.000 0
4|3ENB Rof T EHEEREE 2.000] A 45,300 90,600/ 45,300 90,600 0.000 0
B 325,400 325,400 0.000 0
B {iff 1.0 XHY 325,400
EEANE 325,400
ZTDMIRE 0
datd| (8%) £75E F . PRI B 20, REDMABOET4E




AR 2 {8 31| R i =%

*
HHES 3001 | =) 55 ZHFEE|] 3001 |EEAMEEE
HEifaH (HEER 1-FNo YER D 1.00 YE R B oL = RE eI E A=
# & [ER500m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.250[ A 44,000 11,000] 44,000 11,000 0.250| 11,000
* 17[ B = e RoffiTHEEREE 0.250] A 34,300 8,575 34,300 8,575 0.250 8,575
* 18[BI=B1F Rof T EHEEREE 0.000] A 32,200 0| 32,200 0 0.000 0
* 19[;BI S4B & RoffiTHEEREE 0.500[ A 27,000 13,500| 27,000 13,500 0.500 13,500
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 33,075 1,654 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 33,075 496 0 0 0.000 0
i 35,225 33,075 1.000[ 33,075
B i 1.0 &Y 35,225
EEANE 33,075
2,150

datad

0.5~1.5km>km 0.0 Hi@ & 0.0




AR 2 {8 31| R i =%

HHES 3002 | mE 55 ZHRES| 3002 |EEsnEEE
Bifi4 M [{EEPIDREE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [ER500m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.950] A 44,000 41,800 44,000 41,800 0.600| 26,400
* 17[ B = e RO ERAEHE 1.100[ A 34,300 37,730| 34,300 37,730 0.700| 24,010
* 18[BI=B1F Rof T EHEEREE 1.4000 A 32,200 45,080 32,200 45,080 1.400] 45,080
* 19 B 2B E RoBMTERERLE 42000 A 27,000 113,400 27,000 113,400 4200 113,400
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 238,010 11,901 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 238,010 3,570 0 0 0.000 0
B 253,481 238,010 6.900] 208,890
B {iff 1.0 KBy 253,481
EEANE 238,010
ZTRBE 15,471
datd] (f6%) BAWLAILT LL4E i R0.5~1.5kmam 00 HE B 0.0
6




AR 2 {8 31| R i =%

HHES 3003 | mE 55 ZHES| 3003 |[EEsnEEE
B4 F4 AR ZEHE TR 2 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [ER500m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.200] A 44,000 8,800/ 44,000 8,800 0.000 0
* 17[ B = e RoffiTHEEREE 0.950] A 34,300 32,585| 34,300 32,585 0.650| 22,295
* 18[BI=B1F Rof T EHEEREE 1.900 A 32,200 61,180 32,200 61,180 1.300] 41,860
* 19[;BI S4B & RoffiTHEEREE 1.300] A 27,000 35,100/ 27,000 35,100 1.300/ 35,100
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 137,665 6,883 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 137,665 2,065 0 0 0.000 0
B 146,613 137,665 3.250] 99,255
B {iff 1.0 KBy 146,613
EEANE 137,665
ZTRBE 8,948
datd] (f6%) BAWLAILT LL4E i R0.5~1.5kmam 00 HE B 0.0
6




AR 2 {8 31| R i =%

HHES 3005 | =) 55 ZHRES| 3005 |EEsnEEE
HEifi& % [(EEYEREEN 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B 5 |k EaEin _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 1.360] A 44,000 59,840 44,000 59,840 1.120] 49,280
* 17[ B = e RoffiTHEEREE 2.040] A 34,300 69,972| 34,300 69,972 1.120] 38,416
* 18[BI=B1F Rof T EHEEREE 2.040[ A 32,200 65,688 32,200 65,688 1.120] 36,064
* 19[;BI S4B & RoffiTHEEREE 3.320 A 27,000 89,640/ 27,000 89,640 3.320] 89,640
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000] % 285,140 14,257 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 285,140 4,277 0 0 0.000 0
i 303,674 285,140 6.680] 213,400
B i 1.0 &Y 303,674
EEANE 285,140
ZTOMBEE 18,534

data| (BZ) BIAINT LIT4E EHERS0mELE 0.1 Hix P 0.0
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*
HHES 3006 | mE 55 ZiES| 3006 |EEHKEEE
E {2 %5 | mmRERKA J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [ER500m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.160[ A 44,000 7,040| 44,000 7,040 0.000 0
* 17[ B = e RO ERAEHE 0.320] A 34,300 10,976/ 34,300 10,976 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.000] A 32,200 0| 32,200 0 0.000 0
* 19[;BI S4B & RO ERAEHE 0.000[ A 27,000 0| 27,000 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 1.500 % 18,016 270 0 0 0.000 0
B 18,286 18,016 0.000 0
H i 1.0 KBy 18,286
EEANE 18,016
ZTRBE 270
datd| (f62) BAWGAILUT LIT4E EHRER0S00km 00 ZHrmsREbmiom —0.2
6
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*
&S 3011 | =) 55 &S| 3011 EERNEEE
HEifaH (HEER 1-FNo YER D 1.00 YE R B oL = RE eI E A=
t# __ i& [E380.3%ha _ _ 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.550] A 44,000 24,200| 44,000 24,200 0.550| 24,200
* 17[ B = e RoffiTHEEREE 0.550] A 34,300 18,865/ 34,300 18,865 0.550| 18,865
* 18[BI=B1F Rof T EHEEREE 0.000] A 32,200 0| 32,200 0 0.000 0
* 19[;BI S4B & RoffiTHEEREE 1.090] A 27,000 29,430[ 27,000 29,430 1.090] 29,430
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 72,495 3,625 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 72,495 1,087 0 0 0.000 0
B 77,207 72,495 2.190 72,495
B i 1.0 &Y 77,207
EEANE 72,495
ZTDBEE 4,712

datal (=) BRELELKEERE [LfEmE05haxy 0.4 BAIESPTE1~27 T —0.2 HB 2E 0.2
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FHEES 3012 | mE 55 ZREE|] 3012 |EEaMEEE
Hifa# {ZELUETFmis J1-FNo YER > £ 1.00 YE R BT = AE eI E A=
# & [E150.3%ha _ _ . 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.470] A 44,000 20,680| 44,000 20,680 0.000 0
* 17[ B = e RO ERAEHE 2.070] A 34,300 71,001| 34,300 71,001 1.370] 46,991
* 18[BI=B1F Rof T EHEEREE 2070 A 32,200 66,654] 32,200 66,654 1.370] 44,114
* 19 B 2B E RoBMTERERLE 4100 A 27,000 110,700] 27,000 110,700 4100 110,700
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 269,035 13,452 0 0 0.000 0
502 | MR B CRB L) Mg LEIcRT 284 1.500 % 269,035 4,036 0 0 0.000 0
B 286,523 269,035 6.840] 201,805
H i 1.0 KLY 286,523
EEANE 269,035
ZTDBEE 17,488
datd] (j52) B e LG L/KIRERE LFEEE0.5haxkm 0.4 RALE~ PRI ~25 A7 —0.2 Mot 2E 0.2
6
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HHES 3013 | =) 55 ZHRES| 3013 |[EesnEEE
B {H A FR (4525 L RSt 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B 15 [260m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.260[ A 44,000 11,440] 44,000 11,440 0.000 0
* 17[ B = e RoffiTHEEREE 2.080] A 34,300 71,344 34,300 71,344 1.560| 53,508
* 18[BI=B1F Rof T EHEEREE 3.770[ A 32,200 121,394 32,200 121,394 3.120| 100,464
* 19[;BI S4B & RoffiTHEEREE 3430 A 27,000 92,610/ 27,000 92,610 3.430] 92,610
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 296,788 14,839 0 0 0.000 0
502 |z B (B X% B LB 3EE 1.500] % 296,788 4,452 0 0 0.000 0
B 316,079 296,788 8.110] 246,582
B i 1.0 &Y 316,079
EEANE 296,788
DT E 19,291
data| (&%) BEILBEIKKRERE MR 202
6




AR 2 {8 31| R i =%

FHEES 3014 | mE 55 ZREE|] 3014 |[EEsMEEE
Hifa % £ LEERE = J1-FNo YER > £ 1.00 YE R B oL = AE eI E A=
# 554 550m _ _ 12 - NEZEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 12.100] A 44,000 532,400 44,000 532,400 12.100| 532,400
* 17[ B = e RO ERAEHE 17.050] A 34,300 584,815| 34,300 584,815 12.100| 415,030
* 18[BI=B1F Rof T EHEEREE 29.150] A 32,200 938,630| 32,200 938,630 24.200 779,240
* 19 B 2B E RoBMTERERLE 24200 A 27,000 653,400| 27,000 653,400 24.200| 653,400
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 2,709,245 135,462 0 0 0.000 0
502 | MR B CRB L) Mg LEIcRT 284 15000 % | 2,709,245 40,639 0 0 0.000 0
B 2,885,346 2,709,245 72.600| 2,380,070
H i 1.0 KLY 2,885,346
EEANE 2,709,245
ZDhIEE 176,101
datd] (f52) BELME LKIREBE EMiEro0maim —0.1 Mot 2k 0.2
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&S 3015 | mE 55 Z85EE| 3015 |EEameEE
E {2 %5 | mmRERKA J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [E150.3%ha _ _ . 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.160[ A 44,000 7,040| 44,000 7,040 0.000 0
* 17[ B = e RO ERAEHE 0.320] A 34,300 10,976/ 34,300 10,976 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.000] A 32,200 0| 32,200 0 0.000 0
* 19[;BI S4B & RO ERAEHE 0.000[ A 27,000 0| 27,000 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 1.500 % 18,016 270 0 0 0.000 0
B 18,286 18,016 0.000 0
B {iff 1.0 KBy 18,286
EEANE 18,016
ZTRMBE 270
data| (f52) BEILBELIKEERE mia0.3~0.6haxim 00 == eRmEibmi0m —0.2
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HHES 3016 | mE 55 ZiES| 3016 |EEsnEEE
Bifi4 % | FimR{/ERB J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [E150.3%ha _ _ . 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.400[ A 44,000 17,600] 44,000 17,600 0.000 0
* 17[ B = e RoffiTHEEREE 0.800] A 34,300 27,440| 34,300 27,440 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.000] A 32,200 0| 32,200 0 0.000 0
* 19[;BI S4B & RoffiTHEEREE 0.000[ A 27,000 0| 27,000 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 1.500] % 45,040 676 0 0 0.000 0
B 45,716 45,040 0.000 0
B i 1.0 &Y 45716
EEANE 45,040
ZTRMBE 676

datal (jB%) BRELE LKKRERZE mie0.3~0.6haxiy 0.0

=1k e E5m 0.0




AR 2 {8 31| R i =%

*
HHES 3018 | mE 55 ZHES| 3018 |[EEismnEEE
B4 # | BT EZE IR (N3E) 1-FNo YER > £ 1.00 FETIES RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
168 E FEh Rof T HEEREE 1.000 A 44,000 44,000| 44,000 44,000 0.000 0
17 E 6 RO ERAEHE 1.000 A 34,300 34,300/ 34,300 34,300 0.000 0
18[BI=B1F Rof T EHEEREE 0.500] A 32,200 16,100] 32,200 16,100 0.000 0
B 94,400 94,400 0.000 0
B i 1.0 X7H%4Y 94,400
EEANE 94,400
ZDMIRE 0
data| (&%) AL () BEHF E RS
6




AR 2 {8 31| R i =%

HHES 3019 | =) 55 ZHRES| 3019 |[EeEsnEEE
Bifa % (PO ERA=E (94 %) 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.200] A 44,000 8,800/ 44,000 8,800 0.200 8,800
* 17[ B = e RoffiTHEEREE 0.300] A 34,300 10,290, 34,300 10,290 0.300/ 10,290
* 18[BI=B1F Rof T EHEEREE 0500 A 32,200 16,100] 32,200 16,100 0.500/ 16,100
* 19[;BI S4B & RoffiTHEEREE 0.800[ A 27,000 21,600[ 27,000 21,600 0.800| 21,600
502 [#iR B (B X |HELBIcHI3EE 1.500] % 56,790 852 0 0 0.000 0
501 (M HEVREXER] |MELBEICHTZEE 5.000] % 56,790 2,840 0 0 0.000 0
i 60,482 56,790 1.800] 56,790
B {iff 1.0 XHY 60,482
EEANE 56,790
ZTRBEE 3,692

datad

(&%) Bl (h) EMEMRER




AR 2 {8 31| R i =%

I =

3020 | mE 55 ZHRES| 3020 |[EEsnEEE
Bl % (PO ERA=E (%) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
T 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.400[ A 44,000 17,600] 44,000 17,600 0.000 0
* 17[ B = e RoffiTHEEREE 0.400] A 34,300 13,720 34,300 13,720 0.000 0
502 [#iE B B X |NELBIcHT 8IS 1.500 % 31,320 470 0 0 0.000 0
501 (M HEVREXER] |MELBEICHTZEE 5.000] % 31,320 1,566 0 0 0.000 0
B 33,356 31,320 0.000 0
B i 1.0 X HY 33,356
EEANE 31,320
ZTRBEE 2,036
data| (&%) AL () BEHF E RS
6




AR 2 {8 31| R i =%

HHES 3021 | mE 55 ZHREE|] 3021 |EEaMEEE
Bl %5 |#EER = (94 2) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.280] A 34,300 9,604| 34,300 9,604 0.280 9,604
* 18[BI=BIF RO ERAEHE 0.560[ A 32,200 18,032| 32,200 18,032 0.560 18,032
* 19 A EFHBE Rof T EHEEREE 0.560[ A 27,000 15,120] 27,000 15,120 0.560| 15,120
502 |#miz B (B X% |HNELBIcHT EE 1.500 % 42,756 641 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 42,756 2,138 0 0 0.000 0
B 45535 42,756 1.400| 42,756
B i 1.0 X HY 45535
EEANE 42,756
ZTRBEE 2,779
data| (&%) AL () BEHF E RS
6




AR 2 {8 31| R i =%

FHEES 3022 | mE 55 ZREE|] 3022 |EEamEEE
Al %5 |#tEmE = (RZE) J1-FNo YER > £ 1.00 YE R B oL = AE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.060] A 44,000 2,640| 44,000 2,640 0.000 0
* 17[ B = e RO ERAEHE 0.060] A 34,300 2,058] 34,300 2,058 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.130[ A 32,200 4,186 32,200 4,186 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.500 % 8,884 133 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 8,884 444 0 0 0.000 0
B 9,461 8,884 0.000 0
B {f 1.0 X HY 9,461
EEANE 8,884
ZTRBEE 577
data| (&%) AL () BEHF E RS




AR 2 {8 31| R i =%

*

HHES 3023 | mE 55 ZHRES| 3023 |[EEsnEEE
Bl % [fEER = (94 3) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.400] A 34,300 13,720 34,300 13,720 0.400] 13,720
* 18[BI=BIF RO ERAEHE 0.400[ A 32,200 12,880| 32,200 12,880 0.400 12,880
* 19 A EFHBE Rof T EHEEREE 1.200f A 27,000 32,400/ 27,000 32,400 1.200] 32,400
502 |#miz B (B X% |HNELBIcHT EE 1.500 % 59,000 885 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 59,000 2,950 0 0 0.000 0
B 62,835 59,000 2.000] 59,000
B i 1.0 &Y 62,835
EEANE 59,000
ZTRBEE 3,835
data| (&%) AL () BEHF E RS
6




AR 2 {8 31| R i =%

*

FHEES 3024 | mE 55 ZREE| 3024 |EEsMEEE
R P EED) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.100] A 44,000 4,400| 44,000 4,400 0.000 0
* 17[ B = e RO ERAEHE 0.200] A 34,300 6,860/ 34,300 6,860 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.200] A 32,200 6,440| 32,200 6,440 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.500 % 17,700 266 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 17,700 885 0 0 0.000 0
B 18,851 17,700 0.000 0
B i 1.0 &Y 18,851
EEANE 17,700
ZTRBEE 1,151
data| (&%) AL () BEHF E RS




AR 2 {8 31| R i =%

*
HHES 3025 | =) 55 ZHRES| 3025 |[EEskEEE
B | TEXRSAE (X 1-FNo YER D 1.00 YE R B oL = S TEAE J=E-T
B & |26k 1853.6m. 200m _ 2 & NERAGSE (BEADSLDNES)]
e |EmEN| £ i o % = B i | £ 5| B ffi [ & 2 H# | € %
* 168 E FEh Rof T HEEREE 0.200 44,000 8,800/ 44,000 8,800 0.200 8,800
* 19[;BI =B & RoffiTHEEREE 0.200 27,000 5,400[ 27,000 5,400 0.200 5,400
502 [#iE B B X |NELBIcHT 8IS 1.500 14,200 0 0.000 0
501 (M HEVREXER] |MELBEICHTZEE 5.000 14,200 0 0.000 0
i 15,123 14,200 0.400[ 14,200
B {iff 1.0 KBy 15,123
EEANE 14,200
ZTRBEE

data| (fZ) AL () B E RS




AR 2 {8 31| R i =%

*
HHES 3026 | mE 55 ZHRES| 3026 |EEsKEEE
Bifa % (fEEYREE (N E) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.060[ A 34,300 2,058 34,300 2,058 0.060 2,058
* 18[BI=BIF RO ERAEHE 0.060[ A 32,200 1,932] 32,200 1,932 0.060 1,932
* 19 A EFHBE Rof T EHEEREE 0120 A 27,000 3,240 27,000 3,240 0.120 3,240
502 |#miz B (B X% |HNELBIcHT EE 1.500 % 7,230 108 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 7,230 362 0 0 0.000 0
B 7,700 7,230 0.240 7,230
H i 1.0 KBy 7,700
EEANE 7,230
ZTRBEE 470
data| (&%) AL () BEHF E RS
6




AR 2 {8 31| R i =%

*
&S 3027 mE 55 Z85EE| 3027 |mEameEE
B % |[{%B 1-FNo YER > £ 1.00 YE R B oL = eI E A=
B & |26k 1853.6m. 200m _ 2 B NERAGSE (BEADSLDNES)]
e |EmEN| £ i o % = | Bl B M | € | E M| £ 2z Hi# | £ %8
17 EFEh#d RopfTEEERLE 0.140] A 34,300 4,802] 34,300 4,802 0.140 4,802
19[;BI =B & RoffiTHEEREE 0.440[ A 27,000 11,880| 27,000 11,880 0.440 11,880
115 B2 X {48 4 [E#X] ¢ 230mm 0.440| H 229 101 0 0 0.000 0
671BEAVIY BN EEIL R E 0.310] ¢ 161 50 0 0 0.000 0
B 16,833 16,682 0.580 16,682
B {iff 1.0 KBy 16,833
EEANE 16,682
ZTDBEE 151

data| (f&2) AL (P) B EME RREXDA SN /') 06kwx0.588x2h=0.71 0.71 X 0.44=0.31




AR 2 {8 31| R i =%

*
FHEES 3035 | mE 55 ZFEE| 3035 |EEsMEEE
Bl % [ ARFEDEE J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & |[FHh@EiE2000m _ _ 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.140] A 34,300 4,802 34,300 4,802 0.060 2,058
* 19[;BI =B & RoffiTHEEREE 0.140[ A 27,000 3,780/ 27,000 3,780 0.060 1,620
501 [ MAEHEXHKE] |HMESBEIRTIEE 1.500 % 8,582 129 0 0 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.000[ % 8,582 86 0 0 0.000 0
B 8,797 8,582 0.120 3,678
B i 1.0 &Y 8,797
EEANE 8,582
215
datal S ALE (FH) 0.0




AR 2 {8 31| R i =%

*
FHEES 3036 | mE 55 Z3EE| 3036 |EEEMEEE
Bl % [(#ig | EREiE J1-FNo YER > £ 1.00 YE R B oL = AE eI E A=
# & |[FHh@EiE2000m _ _ 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0120 A 34,300 4116] 34,300 4,116 0.080 2,744
* 18[BI=BIF RoffiTHEEREE 0.140[ A 32,200 4508 32,200 4,508 0.080 2,576
501 [ MAEHEXHKE] |HMESBEIRTIEE 0.500 % 8,624 43 0 0 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.500 % 8,624 129 0 0 0.000 0
B 8,796 8,624 0.160 5,320
B {f 1.0 X HY 8,796
EEANE 8,624
172
datal S ALE (FH) 0.0




AR 2 {8 31| R i =%

*
FHEES 3037 | mE 55 ZEE| 3037 |EEsMEEE
Hl&# | Tihn &R RAE J1-FNo YER > £ 1.00 YE R B oL = AE eI E A=
# & |[FHh@EiE2000m _ _ 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.180] A 34,300 6,174] 34,300 6,174 0.060 2,058
* 18[BI=BIF RoffiTHEEREE 0.180] A 32,200 5,796/ 32,200 5,796 0.060 1,932
501 [ MAEHEXHKE] |HMESBEIRTIEE 0.500 % 11,970 60 0 0 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 0.500] % 11,970 60 0 0 0.000 0
B 12,090 11,970 0.120 3,990
H i 1.0 KLY 12,090
EEANE 11,970
120
datal S ALE (FH) 0.0




AR 2 {8 31| R i =%

*
HHES 3038 | mE 55 ZiHES| 3038 |EEsnEEE
Bl % |AEfEERNE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & [JER200m _ _ . B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 1.020 A 44,000 44,880| 44,000 44,880 0.680| 29,920
* 17 E 6 RoffiTHEEREE 1.300/ A 34,300 44,590| 34,300 44,590 0.680| 23,324
* 18[;AIZBhF Rof T EHEEREE 0.680] A 32,200 21,896 32,200 21,896 0.680| 21,896
501 (M HEVREXER] |MELBEICHTZEE 6.500] % 111,366 7,239 0 0 0.000 0
502 [#iR B (B X |HELBIcHI3EE 3.000] % 111,366 3,341 0 0 0.000 0
B 121,946 111,366 2.040] 75,140
B {iff 1.0 KBy 121,946
EEANE 111,366
10,580
datal S ALE (FH) 0.0




AR 2 {8 31| R i =%

HHES 3039 | mE 55 EHRES| 3039 |[EEsnEEE
B4 |miEitsE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
# & |[FHh@EiE2000m _ _ 1 B NERAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.440[ A 44,000 19,360 44,000 19,360 0.000 0
* 17[ B = e RO ERAEHE 0.440| A 34,300 15,092 34,300 15,092 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.440[ A 32,200 14,168] 32,200 14,168 0.000 0
B 48,620 48,620 0.000 0
B {iff 1.0 KBy 48,620
EEANE 48,620
ZRBZE 0
data| (&) FHLL () EMERE HIEKIZKSEEE (FM) 0.0
6
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3040

AR 2 {8 31| R i =%

=] 55 HHEES| 3040 |EEHKEEE
B {44 %5 | FA b 3280 B IR R4 Bk 1-FNo YER D 1.00 YE R B oL = eI E A=
# & |[FHh@EiE2000m _ _ 1 B NERAGE (BEDSL DI EH)]
e |EmEN| £ o % H = |BMa| B M [ £ %@ | B W | £ % Hi# | £ %8
* 168 E FEh Rof T HEEREE 0.260[ A 44,000 11,440] 44,000 11,440 0.000 0
* 17[ B = e RoffiTHEEREE 0.340] A 34,300 11,662 34,300 11,662 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.340[ A 32,200 10,948| 32,200 10,948 0.000 0
i 34,050 34,050 0.000 0
B {iff 1.0 XHY 34,050
EEANE 34,050
ZTRBE 0
data| (&%) AL () B EIREE Ma/RI—kdZEIEZET/500 0.0
6




AR 2 {8 31| R i =%

*
HHES 3042 | mE 55 ZHRES| 3042 |EEHKEEE
B4 # | BT EZE IR (N3E) 1-FNo YER > £ 1.00 FETIES RE eI E A=
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
168 E FEh Rof T HEEREE 1.000 A 44,000 44,000| 44,000 44,000 0.000 0
17 E 6 RO ERAEHE 1.000 A 34,300 34,300/ 34,300 34,300 0.000 0
18[BI=B1F Rof T EHEEREE 0.500] A 32,200 16,100] 32,200 16,100 0.000 0
B 94,400 94,400 0.000 0
B i 1.0 X7H%4Y 94,400
EEANE 94,400
ZTDMIRE 0
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

HHES 3043 | =) 55 ZHRES| 3043 |EEsnEEE
Bifa % (PO ERA=E (94 %) 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.240[ A 44,000 10,560 44,000 10,560 0.240| 10,560
* 17[ B = e RoffiTHEEREE 0.360] A 34,300 12,348 34,300 12,348 0.360| 12,348
* 18[BI=B1F Rof T EHEEREE 0.600[ A 32,200 19,320] 32,200 19,320 0.600| 19,320
* 19[;BI S4B & RoffiTHEEREE 0.960[ A 27,000 25,920 27,000 25,920 0.960| 25,920
502 [#iR B (B X |HELBIcHI3EE 1.500] % 68,148 1,022 0 0 0.000 0
501 (M HEVREXER] |MELBEICHTZEE 5.000] % 68,148 3,407 0 0 0.000 0
i 72,577 68,148 2.160] 68,148
B i 1.0 &Y 72,577
EEANE 68,148
ZTRMBE 4,429
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

I =

3044 l mE 55 Ehiaes| 3044 |EBGWEEE
Bl % (PO ERA=E (%) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.050] A 44,000 2,200] 44,000 2,200 0.000 0
* 17[ B = e RoffiTHEEREE 0.050] A 34,300 1,715 34,300 1,715 0.000 0
502 | MR E R L) | LEIcRT 24 1.500 % 3,915 59 0 0 0.000 0
501 (M HEVREXER] |MELBEICHTZEE 5.000] % 3,915 196 0 0 0.000 0
B 4,170 3,915 0.000 0
B i 1.0 &Y 4170
EEANE 3,915
ZTRMBE 255
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

HHES 3045 | mE 55 ZEE| 3045 |EEEMEEE
Bl %5 |#EER = (94 2) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.340] A 34,300 11,662 34,300 11,662 0.340] 11,662
* 18[BI=BIF RO ERAEHE 0.670| A 32,200 21574 32,200 21,574 0.670| 21,574
* 19 A EFHBE Rof T EHEEREE 0.670[ A 27,000 18,090| 27,000 18,090 0.670| 18,090
502 | MR B CRB L) Mg LEIoRT 284 1.500 % 51,326 770 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 51,326 2,566 0 0 0.000 0
B 54,662 51,326 1.680| 51,326
B {f 1.0 X HY 54,662
EEANE 51,326
ZTRMBE 3,336
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

FHEES 3046 | mE 55 Z3EE| 3046 |EEEMESEE
Al %5 |#tEmE = (RZE) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 168 E FEh Rof T HEEREE 0.080] A 44,000 3,520| 44,000 3,520 0.000 0
* 17[ B = e RO ERAEHE 0.080] A 34,300 2,744] 34,300 2,744 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.150] A 32,200 4,830] 32,200 4,830 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.500 % 11,094 166 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 11,094 555 0 0 0.000 0
B 11,815 11,094 0.000 0
B i 1.0 &Y 11,815
EEANE 11,094
ZTRMBE 721
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

*
HHES 3047 | mE 55 ZHRES| 3047 |EEHnEEE
Bl % [fEER = (94 3) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & 26k 1853.6m, 240m _ 2 B NERAGSE B o= [[REess0N%S)
R EiNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
* 17 EFEh#d RopfTEEERLE 0.480] A 34,300 16,464 34,300 16,464 0.480] 16,464
* 18[BI=BIF RO ERAEHE 0.480[ A 32,200 15,456 32,200 15,456 0.480 15,456
* 19 A EFHBE Rof T EHEEREE 1.440[ A 27,000 38,880/ 27,000 38,880 1.440] 38,880
502 |#miz B (B X% |HNELBIcHT EE 1.500 % 70,800 1,062 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000[ % 70,800 3,540 0 0 0.000 0
B 75,402 70,800 2.400] 70,800
H i 1.0 KBy 75,402
EEANE 70,800
ZTRMBE 4,602
data| (f5%) ZE T EM BTk
6




AR 2 {8 31| R i =%

*
HHES 3048 | mE 55 ZEE| 3048 |EEEMEEE
R P EED) J1-FNo YER > £ 1.00 YE R B oL = eI E A=
B 5 |28k 1R&36m. 240m _ 12 - NEZEAGE (BED>E DI ES)
AET T EZ i o % = B 2 | B W | £ % EE 5
* 168 E FEh Rof T HEEREE 0120 A 44,000 5,280| 44,000 5,280 0.000 0
* 17[ B = e RO ERAEHE 0.240] A 34,300 8,232] 34,300 8,232 0.000 0
* 18[BI=B1F Rof T EHEEREE 0.240] A 32,200 7,728| 32,200 7,728 0.000 0
502 | MR B CRB L) Mg LEIoRT 284 1.500 21,240 319 0 0 0.000 0
501 [ MAEHEXTHE] |HMESBEIRTIEE 5.000 21,240 1,062 0 0 0.000 0
B 22,621 21,240 0.000
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date| (f5Z) AW BT LG TSEKENEREILL BREMIES2
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3075 | TS 55 ZRES| 3075 |masmmngEE
Hifa % [BE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & |BIIFL4E _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 1.280] A 62,200 79,616/ 62,200 79,616 0.000 0
3|BETA RoffiTHEEREE 1.600[ A 55,200 88,320| 55,200 88,320 0.000 0
4|3ENB Rof T EHEEREE 1.280] A 45,300 57,984| 45,300 57,984 0.000 0
5|:EfiC RoffiTHEEREE 0.960] A 35,600 34,176] 35,600 34,176 0.000 0
B 260,096 260,096 0.000 0
B {iff 1.0 KBy 260,096
EEANE 260,096
ZTDZE 0
date| (f5Z) AW BT LG TSEKENEREILL BREMIES2
6




AR 2 {8 31| R i =%

FHES 3076 | e 55 EHRES| 3076 |EEZHEEE
B4 7 |EXETERBAEVERR 31—} No YER > £ 1.00 YE R B oL = RE eI E A=
B & |BIIFL4E _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.300] A 62,200 18,660| 62,200 18,660 0.000 0
3|BETA RO ERAEHE 0.700] A 55,200 38,640/ 55,200 38,640 0.000 0
4|3ENB Rof T EHEEREE 1.300 A 45,300 58,890| 45,300 58,890 0.000 0
5|:EfiC RO ERAEHE 1.500f A 35,600 53,400/ 35,600 53,400 0.000 0
6| E Rof T EHEEREE 1.500] A 31,600 47,400/ 31,600 47,400 0.000 0
B 216,990 216,990 0.000 0
B {iff 1.0 XHY 216,990
EEANE 216,990
0
data| (&) AL BT L(z NigEFRIEL
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AR 2 {8 31| R i =%

HHES 3079 | mE 55 ZHRES| 3079 |EEsnEEE
BlA % [fRZETE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
1BEE-BEE Rof T HEEREE 0.090[ A 70,900 6,381 70,900 6,381 0.000 0
2| FF AT RO ERAEHE 0.060] A 62,200 3,732] 62,200 3,732 0.000 0
3| FEMA Rof T EHEEREE 0.070] A 55,200 3,864] 55,200 3,864 0.000 0
4|3 EfB RO ERAEHE 0.110] A 45,300 4,983] 45,300 4,983 0.000 0
5|3EMC Rof T EHEEREE 0.090] A 35,600 3,204] 35,600 3,204 0.000 0
B 22,164 22,164 0.000 0
B i 1.0 X HY 22,164
EEANE 22,164
ZDMIRE 0
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AR 2 {8 31| R i =%

FHES 3080 | e 55 Z5ES| 3080 |EEZHEEE
BlAF (BT (9 ) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| FEHED Rof T HEEREE 0.040] A 62,200 2,488] 62,200 2,488 0.040 2,488
3|BETA RO ERAEHE 0.060] A 55,200 3,312 55,200 3,312 0.060 3,312
4|3ENB Rof T EHEEREE 0.060] A 45,300 2,718 45,300 2,718 0.060 2,718
5|:EfiC RO ERAEHE 0.060] A 35,600 2,136] 35,600 2,136 0.060 2,136
6| E Rof T EHEEREE 0.070] A 31,600 2,212| 31,600 2,212 0.070 2,212
B 12,866 12,866 0.290] 12,866
B {iff 1.0 KBy 12,866
EEANE 12,866
ZDMIRE 0
data| (5Z) AL () B EMREE #m e EL30E Rm —0.2
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&S 3081 | e 55 BREE| 3081 |EBOMEEE
BB F | $RZRE (44 3) 1-FNo ER 1.00 YERL B L = AE BifrEsSEBH
B & [2#k-1853.6m, 200m _ 12 i NERAHE o= ||[REDLONES
R [EfENe| & #h i 1 B = |HEfu| = W | & %28 | 2 M | & %8 i BE | & %2
2| EEHED RofTEEXEREE 0.060] A 62,200 3,732 62,200 3,732 0.060 3,732
3| FEMA Rof T EEEREE 0.070| A 55,200 3,864| 55,200 3,864 0.070 3,864
4| ETB Ro T EEXEREE 0.120] A 45,300 5436| 45,300 5,436 0.120 5,436
5|3EMC Rof T EEEREE 0.110[ A 35,600 3,916/ 35,600 3,916 0.110 3,916
6| B RofTEEXEREE 0.110 A 31,600 3,476/ 31,600 3,476 0.110 3,476
21| ER1EXS SHSEIAFE 0.380] A 20,600 7,828 0 0 0.380 7,828
i 28,252 20,424 0.850| 28,252
B i 1.0 XHY 28,252
BEEAHGE 20,424
TR E 7,828

data| (&%)

AL () EMERR SmeB30E R -0.2
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HHES 3082 | =) 55 ZHRES| 3082 |EEsmnEEE
B {45 # | T - AR ER E 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.060] A 62,200 3,732] 62,200 3,732 0.000 0
3|BETA RoffiTHEEREE 0.150] A 55,200 8,280| 55,200 8,280 0.000 0
4|3ENB Rof T EHEEREE 0.250[ A 45,300 11,325 45,300 11,325 0.000 0
5|:EfiC RoffiTHEEREE 0.220] A 35,600 7,832| 35,600 7,832 0.000 0
6| E Rof T EHEEREE 0.220[ A 31,600 6,952| 31,600 6,952 0.000 0
22| T RoffiTHEEREE 0.200[ A 32,200 6,440 0 0 0.000 0
i 44,561 38,121 0.000 0
B i 1.0 XY 44561
EEANE 38,121
ZTDMhIEE 6,440
data| (&%) AL () BEHF E RS
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HHES 3083 | =) 55 ZiHES| 3083 |EEsmnEEE
B4 74 | ME M ER S 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.090] A 55,200 4,968| 55,200 4,968 0.000 0
4|3 ETB RoffiTHEEREE 0.150] A 45,300 6,795 45,300 6,795 0.000 0
5|3EMC Rof T EHEEREE 0.320[ A 35,600 11,392] 35,600 11,392 0.000 0
ez =] RoffiTHEEREE 0.220[ A 31,600 6,952| 31,600 6,952 0.000 0
22|HT Rof T EHEEREE 0.300] A 32,200 9,660 0 0 0.000 0
i 39,767 30,107 0.000 0
B i 1.0 &Y 39,767
EEANE 30,107
ZTRBEE 9,660

data| (fZ) AL () B E RS
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HHES 3084 | =) 55 ZiES| 3084 |EEsnEEE
B4 | BB EYERET 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.070] A 55,200 3,864] 55,200 3,864 0.000 0
4|3 ETB RoffiTHEEREE 0.120] A 45,300 5,436] 45,300 5,436 0.000 0
5|3EMC Rof T EHEEREE 0.260] A 35,600 9,256] 35,600 9,256 0.000 0
ez =] RoffiTHEEREE 0.180] A 31,600 5,688/ 31,600 5,688 0.000 0
22|HT Rof T EHEEREE 0.240] A 32,200 7,728 0 0 0.000 0
i 31,972 24,244 0.000 0
B i 1.0 &Y 31,972
EEANE 24,244
DB E 7,728

datd (j52) AL (P) BV EIREE 23 e Ee30E Kim —0.2
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HHES 3085 | =) 55 ZiES| 3085 |EEsnEEE
BlE&H | TIHEHE 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.080[ A 55,200 4,416 55,200 4,416 0.000 0
4|3 ETB RoffiTHEEREE 0.140] A 45,300 6,342] 45,300 6,342 0.000 0
5|3EMC Rof T EHEEREE 0.220] A 35,600 7,832] 35,600 7,832 0.000 0
ez =] RoffiTHEEREE 0.220[ A 31,600 6,952| 31,600 6,952 0.000 0
i 25,542 25,542 0.000 0
B i 1.0 &Y 25,542
EEANE 25,542
ZTRBEE 0
data| (&%) AL () BEHF E RS
6
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=] 55 ZiEED| 3086 |EEHZKEEE
HEifaH [EEYHETE 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.060[ A 55,200 3,312] 55,200 3,312 0.000 0
4|3 ETB RoffiTHEEREE 0.110] A 45,300 4,983| 45,300 4,983 0.000 0
5|3EMC Rof T EHEEREE 0.180[ A 35,600 6,408] 35,600 6,408 0.000 0
ez =] RoffiTHEEREE 0.180] A 31,600 5,688/ 31,600 5,688 0.000 0
i 20,391 20,391 0.000 0
B {iff 1.0 KBy 20,391
EEANE 20,391
DB E 0
data| (5Z) AL () B EMREE #m e EL30E Rm —0.2
6
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HHES 3087 | mE 55 ZiHES| 3087 |EEsmnEEE
Hifa % [BE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.080] A 62,200 4976] 62,200 4,976 0.000 0
3|BETA RO ERAEHE 0.150] A 55,200 8,280| 55,200 8,280 0.000 0
4|3ENB Rof T EHEEREE 0210 A 45,300 9,513| 45,300 9,513 0.000 0
B 22,769 22,769 0.000 0
B i 1.0 X HY 22,769
EEANE 22,769
ZDMIRE 0
data| (5Z) AL () B EMREE #m e EL30E Rm —0.2
6




AR 2 {8 31| R i =%

M ES 3088 | mE 55 ZiES| 3088 |EmEsmnEEE
Bfi 4 | R mERETERBAE) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [28k-1883.6m. 200m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.280[ A 55,200 15,456 55,200 15,456 0.000 0
4|3 ETB RoffiTHEEREE 0.380] A 45,300 17,214 45,300 17,214 0.000 0
5|3EMC Rof T EHEEREE 0.340[ A 35,600 12,104| 35,600 12,104 0.000 0
B 44,774 44,774 0.000 0
H i 1.0 XHY 44,774
EEAGE 44,774
ZDMIRE 0
data| (&%) AL () BEHF E RS
6
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HHES 3095 | mE 55 ZHRES| 3095 |[EEsnEEE
BlA % [fRZETE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
1BEE-BEE Rof T HEEREE 0110 A 70,900 7,799] 70,900 7,799 0.000 0
2| EEHED RoffiTHEEREE 0.070] A 62,200 4,354] 62,200 4,354 0.000 0
3| FEMA Rof T EHEEREE 0.090] A 55,200 4,968] 55,200 4,968 0.000 0
4|3 EfB RoffiTHEEREE 0.130] A 45,300 5,889| 45,300 5,889 0.000 0
5|3EMC Rof T EHEEREE 0110 A 35,600 3,916 35,600 3,916 0.000 0
B 26,926 26,926 0.000 0
B {iff 1.0 KBy 26,926
EEANE 26,926
ZTDMIRE 0

data| (j5%2) ZEE T EMIBIRER ZVE 4JBC30E R im —0.2
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HHES 3096 | mE 55 ZHES| 3096 |EEHKEEE
BlAF (BT (9 ) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| FEHED Rof T HEEREE 0.050] A 62,200 3,110 62,200 3,110 0.050 3,110
3|BETA RO ERAEHE 0.080] A 55,200 4,416] 55,200 4,416 0.080 4,416
4|3ENB Rof T EHEEREE 0.080] A 45,300 3,624] 45,300 3,624 0.080 3,624
5|:EfiC RO ERAEHE 0.070] A 35,600 2,492] 35,600 2,492 0.070 2,492
6| E Rof T EHEEREE 0.090[ A 31,600 2,844 31,600 2,844 0.090 2,844
B 16,486 16,486 0.370] 16,486
B {iff 1.0 KBy 16,486
EEANE 16,486
ZTDMIRE 0
datd] (j82) EE T EMEmER #1E %) AE30E R —0.2
6
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&S 3007 | e 55 BREE| 3007 |EBOMEEE
BB F | $RZRE (44 3) 1-FNo ER 1.00 YERL B L = AE BifrEsSEBH
B & 28k -1883.6m, 240m _ 12 i NERAHE o= ||[REDLONES
R [EfENe| & #h i 1 B = |HEfu| = W | & %28 | 2 M | & %8 i BE | & %2
2| EEHED RofTEEXEREE 0.070| A 62,200 4354] 62,200 4,354 0.070 4,354
3| FEMA Rof T EEEREE 0.090] A 55,200 4968| 55,200 4,968 0.090 4,968
4| ETB Ro T EEXEREE 0.150] A 45,300 6,795 45,300 6,795 0.150 6,795
5|3EMC Rof T EEEREE 0.130[ A 35,600 4,628 35,600 4,628 0.130 4,628
6| B RofTEEXEREE 0.130] A 31,600 4108 31,600 4,108 0.130 4,108
21| ER1EXS SHSEIAFE 0.460| A 20,600 9,476 0 0 0.460 9,476
i 34,329 24,853 1.030[ 34,329
B i 1.0 XHY 34,329
BEEAHGE 24,853
ZTREE 9,476

date| (f2) EE T EMERE FEDIES0ERE -0.2
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HHES 3098 | =) 55 ZHRES| 3098 |EEsnEEE
B {45 # | T - AR ER E 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.080] A 62,200 4976] 62,200 4,976 0.000 0
3|BETA RoffiTHEEREE 0.180] A 55,200 9,936/ 55,200 9,936 0.000 0
4|3ENB Rof T EHEEREE 0.300[ A 45,300 13,590 45,300 13,590 0.000 0
5|:EfiC RoffiTHEEREE 0.270] A 35,600 9,612] 35,600 9,612 0.000 0
6| E Rof T EHEEREE 0.270 A 31,600 8,532| 31,600 8,532 0.000 0
22| T RoffiTHEEREE 0.240[ A 32,200 7,728 0 0 0.000 0
i 54,374 46,646 0.000 0
B i 1.0 &Y 54,374
EEANE 46,646
ZTDMhIEE 1,728
data| (f5%) ZE T EM BTk
6
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HHES 3099 | =) 55 ZHRES| 3099 |[EEsnEEE
B4 74 | ME M ER S 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0110 A 55,200 6,072] 55,200 6,072 0.000 0
4|3 ETB RoffiTHEEREE 0.180] A 45,300 8,154| 45,300 8,154 0.000 0
5|3EMC Rof T EHEEREE 0.390[ A 35,600 13,884| 35,600 13,884 0.000 0
ez =] RoffiTHEEREE 0.270) A 31,600 8,532| 31,600 8,532 0.000 0
22|HT Rof T EHEEREE 0.360] A 32,200 11,592 0 0 0.000 0
i 48,234 36,642 0.000 0
B {iff 1.0 KBy 48,234
EEANE 36,642
ZTRMBE 11,592
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FHES 3100 | ES 55 Z5RES| 3100 |meismeE=E
B4 | BB EYERET 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.080] A 55,200 4,416 55,200 4,416 0.000 0
4|3 ETB RO ERAEHE 0.140] A 45,300 6,342] 45,300 6,342 0.000 0
5|3EMC Rof T EHEEREE 0.310[ A 35,600 11,036] 35,600 11,036 0.000 0
ez =] RO ERAEHE 0.220[ A 31,600 6,952| 31,600 6,952 0.000 0
22|HT Rof T EHEEREE 0.290] A 32,200 9,338 0 0 0.000 0
i 38,084 28,746 0.000 0
B {iff 1.0 XHY 38,084
EEANE 28,746
ZTRMBEE 9,338
datd] (j82) EE T EMEmER #1E %) AE30E R —0.2
6
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HHES 3101 | =) 55 ZREE|] 3101 |EEaMEEE
BlE&H | TIHEHE 1-FNo YER D 1.00 YE R B oL = RE S TEAE J=E-T
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.100[ A 55,200 5,520| 55,200 5,520 0.000 0
4|3 ETB RoffiTHEEREE 0.170] A 45,300 7,701 45,300 7,701 0.000 0
5|3EMC Rof T EHEEREE 0.260] A 35,600 9,256] 35,600 9,256 0.000 0
ez =] RoffiTHEEREE 0.260[ A 31,600 8,216/ 31,600 8,216 0.000 0
i 30,693 30,693 0.000 0
B {iff 1.0 XHY 30,693
EEANE 30,693
ZTRMBE 0
data| (f5%) ZE T EM BTk
6
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3102 | TS 55 ZHEEES| 3102 |#EEGHESEES
HEifaH [EEYHETE 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.080[ A 55,200 4,416 55,200 4,416 0.000 0
4|3 ETB RoffiTHEEREE 0.130] A 45,300 5,889| 45,300 5,889 0.000 0
5|3EMC Rof T EHEEREE 0210 A 35,600 7,476] 35,600 7,476 0.000 0
ez =] RoffiTHEEREE 0210 A 31,600 6,636/ 31,600 6,636 0.000 0
i 24,417 24,417 0.000 0
B i 1.0 &Y 24,417
EEANE 24,417
ZTRMBEE 0
datd] (j82) EE T EMEmER #1E %) AE30E R —0.2
6
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FHES 3103 | ES 55 Z85ES| 3103 |mesmkgE=E
Hifa % [BE 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.100] A 62,200 6,220 62,200 6,220 0.000 0
3|BETA RO ERAEHE 0.180] A 55,200 9,936/ 55,200 9,936 0.000 0
4|3ENB Rof T EHEEREE 0.250] A 45,300 11,325 45,300 11,325 0.000 0
B 27,481 27,481 0.000 0
H i 1.0 KBy 27,481
EEANE 27,481
ZTDMIRE 0
datd] (j82) EE T EMEmER #1E %) AE30E R —0.2
6
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FHES 3104 | ES 55 ZRES| 3104 |mesmeEE
BifA % [RRmERETERBAE) 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & [26k-1883.6m. 240m _ 2 B NERAGSE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3| EMA Rof T HEEREE 0.340] A 55,200 18,768] 55,200 18,768 0.000 0
4|3 ETB RO ERAEHE 0.460| A 45,300 20,838| 45,300 20,838 0.000 0
5|3EMC Rof T EHEEREE 0410 A 35,600 14,596 35,600 14,596 0.000 0
B 54,202 54,202 0.000 0
H i 1.0 XHY 54,202
EEANE 54,202
ZTDMIRE 0
data| (f5%) ZE T EM BTk
6
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&S 3111 | =) 55 ERES| 3111 EERNEEE
B4 | BaiHE 1-FNo YER D 1000 |{ERCEfI| &R RE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.500[ A 62,200 31,100/ 62,200 31,100 0.000 0
4|3 ETB RoffiTHEEREE 0.500] A 45,300 22,650| 45,300 22,650 0.000 0
5|3EMC Rof T EHEEREE 0500 A 35,600 17,800| 35,600 17,800 0.000 0
B 71,550 71,550 0.000 0
B i 1.0 BERT&Y 7,155
EEAGE 7,155
ZTRMBE 0
data| (5#)
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&S 3112 | mE 55 ERES| 3112 |EesnEEE
Hifa % RitEEE 1-FNo YER D 1000 |{ERCEfI| &R AE S TEAE J=E-T
B & _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
1BEE-BEE Rof T HEEREE 0.500] A 70,900 35,450/ 70,900 35,450 0.500| 35,450
2| EEHED RoffiTHEEREE 0.500] A 62,200 31,100 62,200 31,100 0.500/ 31,100
3| FRETA Rof T EHEEREE 1.000] A 55,200 55,200/ 55,200 55,200 1.000] 55,200
4|3 EfB RoffiTHEEREE 1.000 A 45,300 45,300/ 45,300 45,300 1.000] 45,300
5|3EMC Rof T EHEEREE 1.500] A 35,600 53,400/ 35,600 53,400 1.500] 53,400
ez =] RoffiTHEEREE 2000 A 31,600 63,200/ 31,600 63,200 2.000] 63,200
i 283,650 283,650 6.500 283,650
B i 1.0 BERT&Y 28,365
EEANE 28,365
ZTRMBE 0
data| (%) HIT NUYFFILET
6




AR 2 {8 31| R i =%

&S 3113 | mE 55 ZHRES| 3113 |EeswngEz
BEilA % [RYEESDH 1-FNo YER > £ 1000 |{ERCEfI| &R RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
4|3ENB Rof T HEEREE 0.500] A 45,300 22,650| 45,300 22,650 0.000 0
5|EfiC RO ERAEHE 0.800] A 35,600 28,480| 35,600 28,480 0.000 0
6| E Rof T EHEEREE 1.500] A 31,600 47,400/ 31,600 47,400 0.000 0
B 98,530 98,530 0.000 0
B {iff 1.0 ErrSY 9,853
EEANE 9,853
ZTRMBE 0
data| (%) HIT NUYFFILET
6




AR 2 {8 31| R i =%

&S 3114 | mE 55 ERES| 3114 |EesngEz
Hifa % RitEEE 1-FNo YER D 1000 |{ERCEfI| &R AE S TEAE J=E-T
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
1BEE-BEE Rof T HEEREE 0.300[ A 70,900 21,270| 70,900 21,270 0.300[ 21,270
2| FF AT RoffiTHEEREE 0.500] A 62,200 31,100 62,200 31,100 0.500/ 31,100
3| FRETA Rof T EHEEREE 1.000] A 55,200 55,200/ 55,200 55,200 1.000] 55,200
4|3 EfB RoffiTHEEREE 1.000 A 45,300 45,300/ 45,300 45,300 1.000] 45,300
5|FEfiC Rof T EHEEREE 2.000 A 35,600 71,200, 35,600 71,200 2.000[ 71,200
ez =] RoffiTHEEREE 2000 A 31,600 63,200/ 31,600 63,200 2.000] 63,200
i 287,270 287,270 6.800| 287,270
B i 1.0 BERT&Y 28,727
EEANE 28,727
ZTRMBE 0
datd| (%) & AMIET




AR 2 {8 31| R i =%

FHES 3115 | ES 55 EZRES| 3115 |mesmkeE=E
BEilA % [RYEESDH 1-FNo YER > £ 1000 |{ERCEfI| &R RE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
4|3ENB Rof T HEEREE 0.500] A 45,300 22,650| 45,300 22,650 0.000 0
5|EfiC RO ERAEHE 0.500] A 35,600 17,800/ 35,600 17,800 0.000 0
6| E Rof T EHEEREE 2.000 A 31,600 63,200/ 31,600 63,200 0.000 0
B 103,650 103,650 0.000 0
B i 1.0 BERT&Y 10,365
EEANE 10,365
ZTDMIRE 0
datd| (%) & AMIET
6




AR 2 {8 31| R i =%

FHES 3117 | S 55 ERES| 3117 |mesmkeE=E
B4 # |Ja Ui ER s AR 1—FNo YER D 1.00 YERREEAL|  EFT AE S TEAE J=E-T
B B[ SURsIET _ _ . 3 NEEAGE B o= [[REess0N%S)
A 7 T B & | By B m | & %8| 2 i | & %8 i B& | = %8
3112|IRMEAE 1.000| #iFT 28,365 28,365| 28,365 28,365 0.000 0
S113[MYFELESD 1.000| &P 9,853 9,853 9,853 9,853 0.000 0
F 38,218 38,218 0.000 0
B i 1.0 BERT&Y 38,218
EEANE 38,218
ZTRMBE 0
data| (5#)




AR 2 {8 31| R i =%

M HES 3118 | mE 55 ZHRES| 3118 |EeswnEEE
B4 # |Ja Ui ER s AR 1-FNo YER D 1.00 ERCEGL) &ERR RE S TEAE J=E-T
B E[EAMIET _ _ . 3 NEEAGE B o= [[REess0N%S)
A #h T B & | By B m | & %8| 2 i | & %8 i B& | = %8
3114|IRHAE 1.000| &FT 28,727 28,727| 28,727 28,727 0.000 0
3115[MYFEED 1.000( EFR 10,365 10,365/ 10,365 10,365 0.000 0
i 39,092 39,092 0.000 0
B {iff 1.0 BTy 39,092
EEANE 39,092
ZTRMBE 0
data| (5#)




I =

3119

AR 2 {8 31| R i =%

=] 55 Z5EE| 3119 |geEamsEE
B4 |Gt EE R 1-FNo YER D 1.00 FETIES AE S TEAE J=E-T
B & _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 1.500] A 62,200 93,300/ 62,200 93,300 0.000 0
3|BETA RoffiTHEEREE 1.500f A 55,200 82,800/ 55,200 82,800 0.000 0
5|3EMC Rof T EHEEREE 6.000[ A 35,600 213,600/ 35,600 213,600 0.000 0
ez =] RoffiTHEEREE 5.000[ A 31,600 158,000| 31,600 158,000 0.000 0
B 547,700 547,700 0.000 0
B i 1.0 X7H%4Y 547,700
EEANE 547,700
ZTRMBE 0
datd| (f62) BBERIRE
6




AR 2 {8 31| R i =%

I =

3120 | TS 55 ZHFEE| 3120 |EEGHESES
Bifi4&# | IRt R 1-FNo YER D 1000 |{ERRE{ ¥E AE S TEAE J=E-T
B & _ _ e B NEEAHRE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 1.500] A 62,200 93,300/ 62,200 93,300 1.500] 93,300
4|3 ETB RoffiTHEEREE 3.500] A 45,300 158,550 45,300 158,550 1.500] 67,950
5|3EMC Rof T EHEEREE 3500 A 35,600 124,600 35,600 124,600 2.000[ 71,200
ez =] RoffiTHEEREE 1.500] A 31,600 47.400[ 31,600 47,400 0.000 0
i 423,850 423,850 5.000| 232,450
B i 1.0 BLY 42,385
EEANE 42,385
ZTRMBE 0
datd| (f62) BBERIRE
6




AR 2 {8 31| R i =%

HHES 3121 | =) 55 ZHREE|] 3121 |EEaMEEER
Bifia# |2ARRU— RO ERK 1-FNo YER D 1000 |{ERRE{ ¥E AE S TEAE J=E-T
B & _ _ i B NEZEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
4| EfB Rof T HEEREE 2.000] A 45,300 90,600/ 45,300 90,600 0.000 0
6| i 8 RoffiTHEEREE 2000 A 31,600 63,200/ 31,600 63,200 0.000 0
i 153,800 153,800 0.000 0
B {iff 1.0 Y 15,380
EEANE 15,380
ZTRMBE 0
datd| (f62) BBERIRE




AR 2 {8 31| R i =%

FHES 3122 | ES 55 EREE| 3122 |mesmkeEs=E
Bifa % [HHESRDIER 1-FNo YER D 1.00 YE R B oL H AE S TEAE J=E-T
B E[aVo)—ME _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
5|3EMC Rof T HEEREE 0.500[ A 35,600 17,800| 35,600 17,800 0.000 0
6| i 8 RoffiTHEEREE 1.500] A 31,600 47,400[ 31,600 47,400 0.000 0
i 65,200 65,200 0.000 0
B {iff 1.0 BHY 65,200
EEANE 65,200
ZTRMBE 0
data| (5#)




AR 2 {8 31| R i =%

FHES 3123 | ES 55 Z85ES| 3123 |mesmkeEs=E
Bifa % [HHESRDIER 1-FNo YER D 1.00 YE R B oL H AE S TEAE J=E-T
B & e _ _ e B NEEAHRE B o= [[REess0N%S)
R [BliNe| 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
5|3EMC Rof T HEEREE 1.500] A 35,600 53,400/ 35,600 53,400 0.000 0
6| i 8 RoffiTHEEREE 1.500] A 31,600 47,400[ 31,600 47,400 0.000 0
i 100,800 100,800 0.000 0
B {iff 1.0 BHY 100,800
EEANE 100,800
ZTRMBE 0
data| (5#)




AR 2 {8 31| R i =%

MFHES 3124 | =) 55 BRES| 3124 |[ABHHEEE
Hifa# (Rithmis —REED 1-FNo YER > £ 1.00 YE R B oL H AE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
4|3ENB Rof T HEEREE 0.800] A 45,300 36,240| 45,300 36,240 0.800/ 36,240
5|EfiC RoffiTHEEREE 1.200 A 35,600 42,720| 35,600 42,720 1.200] 42,720
6| E Rof T EHEEREE 0.800[ A 31,600 25280 31,600 25,280 0.800| 25,280
B 104,240 104,240 2.800] 104,240
B {iff 1.0 BHY 104,240
EEAGE 104,240
ZTRMBE 0
data| (5#)
6




AR 2 {8 31| R i =%

MFHES 3125 l _ =) 55 BRES| 3125 |[ABHHEEE
BEifaH |[EHRRATREDER —BREER 31—} No YER > £ 1.00 {E R B L H RE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
4|3ENB Rof T HEEREE 0.300[ A 45,300 13,590 45,300 13,590 0.000 0
5|EfiC RoffiTHEEREE 0.700] A 35,600 24,920| 35,600 24,920 0.000 0
6| E Rof T EHEEREE 0.700] A 31,600 22,120/ 31,600 22,120 0.000 0
B 60,630 60,630 0.000 0
B {iff 1.0 H4Y 60,630
EEANE 60,630
ZTDMIRE 0
data| (5#)
6




AR 2 {8 31| R i =%

FHES 3126 | ES 55 ZRES| 3126 |meEsmkgE=E
B % (5220l J1-FNo YER > £ 1000 |{ERRE{ ¥E RE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| FEHED Rof T HEEREE 2.000 A 62,200 124,400 62,200 124,400 0.000 0
3|BETA RoffiTHEEREE 2.000] A 55,200 110,400 55,200 110,400 0.000 0
B 234,800 234,800 0.000 0
H i 1.0 Y 23,480
EEANE 23,480
ZTDMIRE 0
data| (5#)
6




AR 2 {8 31| R i =%

MBS 3127 | e 55 ZRES| 38127 |mEaHEERE
BifaH FHREZSDIERK 1-FNo YER > £ 1.00 YE R B oL H AE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
2| E{EHED Rof T HEEREE 0.500[ A 62,200 31,100/ 62,200 31,100 0.000 0
3|BETA RO ERAEHE 0.500] A 55,200 27,600/ 55,200 27,600 0.000 0
4|3ENB Rof T EHEEREE 1.000 A 45,300 45,300| 45,300 45,300 0.000 0
5|:EfiC RO ERAEHE 1.000 A 35,600 35,600/ 35,600 35,600 0.000 0
6| E Rof T EHEEREE 1.500] A 31,600 47,400/ 31,600 47,400 0.000 0
B 187,000 187,000 0.000 0
B {iff 1.0 H4Y 187,000
EEANE 187,000
ZTDMIRE 0
data| (5#)
6




AR 2 {8 31| R i =%

FHES 3129 | ES 55 EZRES| 3129 |mesmkeE=E
Bii&# |BE R REEGnEE 1-FNo YER > £ 1.00 YE R B oL H AE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
673| — AR BELF 1.000 A 19,900 19,900 0 0 0.000 0
37| 8 21.000] L 133 2,793 0 0[4.2L/h * 5.0h 0.000 0
674 REER  |rrrsem mEEE200ke 1.400, H 87,000 121,800 0 0 0.000 0
B 144,493 0 0.000 0
B {iff 1.0 H4Y 144 493
EEANE 0
ZTDMBEE 144,493
datal (&) TR J96kW X PRFE & 5:0.044L/kW-h=42L/h ZF[BE2E B enrrn] 500MF R/ 1285 02k 100H=1H 0) & infsi 5.0FF
6




AR 2 {8 31| R i =%

FHES 3130 | S 55 Z85RES| 3130 |mesmkeE=E
Bi&# |BEatk BEL 1—FNo YER D 1.00 UHEIVIES: ] AE S TEAE J=E-T
B M _ _ e 3 NEEAGE B o= [[REess0N%S)
A 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3119 |FTEI (& 1.000| EF 547,700 547,700/ 547,700 547,700 0.000 0
3120(IHRHh X E 4.000[ #3 42,385 169,540 42,385 169,540 0.000 0
3121 |2 HRERU— RO A 4.000[ #& 15,380 61,520 15,380 61,520 0.000 0
3122| B BERDIER [20)— B 0.600 H 65,200 39,120/ 65,200 39,120 0.000 0
3123 | i+t TS XD VERL |HRAE 0.300( H 100,800 30,240 100,800 30,240 0.000 0
3124[Hi iz —MREER 1.000] H 104,240 104,240| 104,240 104,240 0.000 0
3125 [emanmangonn —pusn 2.400] H 60,630 145512 60,630 145,512 0.000 0
3126|221 F1 4.000| 1& 23,480 93,920[ 23,480 93,920 0.000 0
3127 |MEE DR 2.300] H 187,000 430,100/ 187,000 430,100 0.000 0
3129(1B 2 SR EEi R E 0.400| H 144,493 57,797 0 0 0.000 0
i 1,679,689 1,621,892 0.000 0
B i 1.0 X7H%4Y 1,679,689
EEAGE 1,621,892
ZTDMBEE 57,797

data| (52) BREAKR BELE aUD)—FE3 B13 el miRET




AR 2 {8 31| R i =%

HHES 3131 | =) 55 EHRES| 3131 |EEinngEE
Bi&# B2k BE 1-FNo YER D 1.00 UHEIVIES: ] AE S TEAE J=E-T
B B8 _ _ e 3 NEEAGE B o= [[REess0N%S)
A #h T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3120[IR K& 1.000| #& 42,385 42,385 42,385 42,385 0.000 0
3121 | hRRU— RO A 1.000| #& 15,380 15,380| 15,380 15,380 0.000 0
3122 | EMBERDIER (30— ME 0.200( H 65,200 13,040| 65,200 13,040 0.000 0
3124[Hi iz —MREER 0.200| H 104,240 20,848 104,240 20,848 0.000 0
3125 [emanmangonn —pusn 0.500| H 60,630 30,315/ 60,630 30,315 0.000 0
3126|1224 M 5 1.000| #3& 23,480 23,480/ 23,480 23,480 0.000 0
3127 |MEE DR 2.200 H 187,000 411,400 187,000 411,400 0.000 0
i 556,848 556,848 0.000 0
B i 1.0 X7H%4Y 556,848
EEANE 556,848
ZTRMBE 0
date| (5%) BRE LR BRE av7)—NE1 B
6




I =

AR 2 {8 31| R i =%

3135 | TS 55 ZHFEE| 3135 |EEAHESEE
Bl % AILFEER R /DI 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
A #h T 1 B & |Efu| = i | = %8| B m | & % i B& | = %8
3111|FERIAE 2.000| &R 7,155 14,310 7,155 14,310 0.000 0
3117[C8ILMEES SR g XYL T 22.000| &iFfr 38,218 840,796| 38,218 840,796 0.000 0
5 855,106 855,106 0.000 0
B i 1.0 X HY 855,106
EEANE 855,106
ZTDMIRE 0
data| (5#)




AR 2 {8 31| R i =%

M HES 3136 mE 55 Z8EE| 3136 |HEamsmEE
Bifa# BUESR SR FIEE 1-FNo YER D 1.00 YE R B oL = eI E A=
B & _ _ e 3 NEEAGE (BEDS>LDNESD)]
3% | B ffiNo #H = B M | £ % | B M| £ % Hi# | £ %8
3111 |FFIRAE 3.000 7,155 21,465 7,155 21,465 0.000 0
3117[C8ILMEES SR g XYL T 9.000 38,218 343,962| 38,218 343,962 0.000 0
g 365,427 365,427 0.000 0
B i 1.0 &Y 365,427
EEANE 365,427
ZTRMBE 0
data| (5#)
6




AR 2 {8 31| R i =%

FHES 3137 | ES 55 ZRES| 3137 |mesmkem=E
Bifa% BIUESR AR BAEL J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3111|FERIAE 4.000| R 7,155 28,620 7,155 28,620 0.000 0
3117[C8ILMEES SR g XYL T 35.000| = FR 38,218| 1,337,630/ 38,218] 1,337,630 0.000 0
3118[AILMEES miR EARGLET 1.000| #FF 39,092 39,092| 39,092 39,092 0.000 0
B 1,405,342 1,405,342 0.000 0
H i 1.0 KBy 1,405,342
EEANE 1,405,342
ZTDMIRE 0
data| (5#)
6




AR 2 {8 31| R i =%

M HES 3138 mE 55 Z85EE| 3138 |mEameEE
BlA % BILEER RiR Rk 1-FNo YER D 1.00 YE R B oL = RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
A #h T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3111 |FFIRAE 1.000| &ifT 7,155 7,155 7,155 7,155 0.000 0
3117[C8ILMEES SR g XYL T 12.000| &FR 38,218 458,616| 38,218 458,616 0.000 0
B 465,771 465,771 0.000 0
B i 1.0 &Y 465,771
EEANE 465,771
ZTRMBE 0
data| (5#)
6




AR 2 {8 31| R i =%

FHES 3139 | ES 55 Z85ES| 3139 |mesmkgmE=E
BilA% BIUESR SR D) J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3111|FERIAE 2.000| &R 7,155 14,310 7,155 14,310 0.000 0
3117[C8ILMEES SR g XYL T 1.000| &R 38,218 38,218| 38,218 38,218 0.000 0
3118[AILMEES miR EARGLET 1.000| #FF 39,092 39,092| 39,092 39,092 0.000 0
B 91,620 91,620 0.000 0
B i 1.0 X HY 91,620
EEANE 91,620
ZTDMIRE 0
data| (5#)
6




I =

AR 2 {8 31| R i =%

3140 | TS 55 ZHFEE| 3140 |EEHEHESEES
Bifa% RIUESR AR B4E L J1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
A #h T 1 B & |Efu| = i | = %8| B m | & % i B& | = %8
3111|FERIAE 2.000| &R 7,155 14,310 7,155 14,310 0.000 0
3117[C8ILMEES SR g XYL T 12.000| &FRT 38,218 458,616| 38,218 458,616 0.000 0
5 472,926 472,926 0.000 0
H i 1.0 KBy 472,926
EEANE 472,926
ZTDMIRE 0
data| (5#)




AR 2 {8 31| R i =%

HHES 3141 | =) 55 ZREE|] 3141 |EEaMEEER
Bima% BILEER R Ll 1-FNo YER > £ 1.00 YE R B oL = RE eI E A=
B & _ _ 1% - NEEAE B o= [[REess0N%S)
A 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3111 | EHIFAE 3.000| &FT 7,155 21,465 7,155 21,465 0.000 0
3117[C8ILMEES SR g XYL T 20.000| fFR 38,218 764,360| 38,218 764,360 0.000 0
B 785,825 785,825 0.000 0
B i 1.0 &Y 785,825
EEANE 785,825
ZTRMBE 0
data| (5#)
6




AR 2 {8 31| R i =%

FHES 3142 | S 55 ERES| 3142 |mesmeE=E
Bif&# |alLksmR BE 1—FNo YER D 1.00 YE R B oL = AE S TEAE J=E-T
B & _ _ e 3 NEEAGE B o= [[REess0N%S)
R BN | 2 7 T 1 B & | By B m | & %8| 2 i | & %8 i B& | = %8
3111 |FFIRAE 5.000| & Fr 7,155 35,775 7,155 35,775 0.000 0
3117[8ILUFEER S8 g RXYFHIET 117.000| &P 38,218 4471506 38,218] 4,471,506 0.000 0
3118[AILMEES miR EARGLET 1.000| #FF 39,092 39,092| 39,092 39,092 0.000 0
i 4,546,373 4,546,373 0.000 0
B {iff 1.0 XHY 4,546,373
EEANE 4,546,373
ZTRMBE 0
data| (5#)
6




RERERR e
x*
THES 3900 (=] 55 ERES 3900 EEAMNEEE
Hifi&# |[FREFCATLFAR 1-FNo  |ERH & 1.00 YE Rk B fx X AE BifrENEBH
B & @ ) NEZAHE B o= (REEDSE DI ES)
#E|BfiNo| & | B |8 2| B B & %8 H (i & %8 H %k & %8
MERE R 1.000{ [@ 18,300 18,300 0 0.000
BEEFEAN 102—+—.5GB| 8.000] A 15,300 122,400 0 0.000
& 140,700 0.000
B i 1.0 By 140,700
BEEAGE 0
ZTRMEE 0
data| ({&E%)
7




